0-272 0o0oDoDes0DD00000(@MO2300)
@)
1)
-1
/cm®)
(1) Tos
271
! B B 3.04
(CIS) (BIS) -1
) -2
(2) W/S(%) | C/S(%)| B/S(%)
(#5% H10cm) S
10 - -
24 (20 2 ) 15 o N
5 20 - -
1,3,7,14,28 28 i .
200kN/m? s ° -
(3) 120 0 - _
5 - -
(CD) (cu) 2 10 - -
100,200,300,400,500kPa 10 23 ; -
28 T
35 o -
40 o o
500 -
(1) —— C/S=5% L
28 1 < 400 H—o-c/s=10%
c/s B/S 3%
| "
C/S=5 B/S 50kN/m? 200 =1
C/S=10 B/S 100 ’
};—4
200kN/m? 0
(2) (CD) 15 20 25 30 35 40
B/S=15,30,40 -2 1
15 28
() (cu)
B/S=15,30,40 -3
2 3
191-8506 2-1-1 TEL. & FAX. 042-591-9649

-543-



o-272

4

®)

C/IS=5
CD

oooOoboee0ODODOOOO(M@MO2300O)

CD

B/S

B/S

B/S

B/S

29°

B/S

C/s=10

=50kN/m?

CD,cu
B/S
B/S
1)

| —0—100kPa —0—200kPa —A—300kPa —O—400kPa +500kPa|

B/S=15%

1200

& 1000

© 1-0 3 (KN/m?)

1200

1000

800

600

28°

, 65

| —©—100kPa ——200kPa —%—300kPa —©—400kPa —*—500kPa

B/S=30%

G 1-0 3 (kN/m?)

1200

5
S
8

@
8
8

2
g
8

IS
&
8

200 ig

28°

B/S

B/S

=200kN/m?

15

) ,pp.435-436, 2 9

| —0—100kPa ——200kPa —2—300kPa —O—400kPa +500kPa|

B/S=40%

0 5 1 5 0 5 10 15
e, ea () ea(
a) B/S=15% b) B/S=30% ¢) B/S=40%
-2CD
| —9—100KPa —0—200kPa —%—300kPa —©—400kPa +500kPa| —9—100KPa —TF200kPa —&— 300kPa —O—400kPa _*_SDOkPa‘
—0—100KPa ——200kPa —~—300kPa —O—400kPa +500kpa| 500
500
B/S=30%
B/S=15% £ 400 g
g PO 51
o 300 ¢
; Pr000-00-006| L
0-0-0-0-0-0-0-0-0 ; ©
e SN 200 g
HO-O-0-0-0-0- 000
100
0 X
) 5 10 15 0 5 10 15 0 5 10 15
€a () ea () ea ()
a) B/S=15% b) B/S=30% ¢) B/S=40%
-3 CO
| AB/S=15% OB/S=30% #B/5=40% |
50 50
C/S=10%
40 40
. ° & /"-/
e 30 E 30
20 - 20
B/S=15% q=1.1239p'+51.521 1 10
B/S=30% g=1.1070p"+70.760 | | 10
B/S=40% @=1.1281p'+79.064
0 0
0 200 400 600 800 1000 15 20 25 30 35 40 15 20 25 30 35 40
p'=(s'1+25'5)/3 (kN/m?) % %
-4 5 -6

-544-



